Problem of Week #5  


Name: _________________
[image: image1.png]» To estimate 3284 - 1935:
Estimate each number to the closest 1000: 3000 - 2000 = 1000

To get a closer estimate, estimate each number to the closest hundred:
3300 - 1900 = 1400




1. Estimate each difference using any strategy you wish.

a) 8374 – 384     ______________

b) 3850 – 1295   _______________

c) 6578 – 4380  _______________
2. Elsa estimated that 3676 – 493 was 3100. Was Elsa’s estimate high or low? Why do you think that?
 ________________________________________________________________________________    _________________________________________________________________________________    _________________________________________________________________________________    _________________________________________________________________________________ 
3.  How many ways can you rename 1 265 as the sum of smaller numbers? (Use expanded)
· 1 000+ 200+ 60+5= 1 265 

· 1 000+ 150+ 100+15= 1 265

